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Sl ez yeail) Jia o gulalls A8l 3 Jaealiill Gmns 21 ) ae daa i)
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N =0 o=
A pall A add S e
N=N+10ualoasie
Lo WS A ) ) Al BeleS yaat (Say o
“ N =0 pasie
N=N+2 omalyagie
N=N+10ualagie
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5 il Jaaa g Aabess uleaas 43a ) 93 10 4

dalie Glua da ) ) &l b)) an ) cMicrosoft Visio gl aladiuls e
S Y alaall (385 5 30l Jaaa
3.14 * (r) hall caai * (1) Lhill Caai = (A) 3500 daliss o
3.14 * (r) Lhdll cami * 2 = (C) 5l Jasa o

radius r

C=2ar

A = 7r?
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Gblaal) o) ja) daa )y At  SLad) abaddll av ) cMicrosoft Visio gl y alasiul o
addiiall SRS e by By A Gpoaadl e day )Y Al
A+B = damll b (+) ceall lee ga SLARY) IS 1Y) o
A-B =34l 4 (<) Zokll Al sa LEaY) IS 1Y) .
A* B = dagiill (b (*) cowall Adee g HLEAYI S 1Y)
A /B =3l 4 (/) el Alee ga HLEAY) IS 13 o
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Celsius to Fahrenheit = (— X ) +

Fahrenheit to Celsius = —




Ciladad) Janal 85l alan) da 3 ) 63 20 pal
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Jlcall Ja g Cilra ) s

e a3 ) 530 a5 Ll (S 5 88 Jilisa llin o
(Sorting) <Llall 58 o
(Searching) <Ulnll e Gl o
(Text Processing) u= saill dallaa o
(Numerical Analysis) (gaa=ll Jalaill o

u.ct_\A.\j\bJ\u.\‘ﬂcuujj\jﬂ\&u‘y@;uSMYJaMuj&de\uAu
e oyl Jia (Al) e lilaa¥) (1S3 alasinly il dg\ s dju\ Jiadl



bl g a3 C (AN

Calaldl dad 81 meali jll Laty glud¥) dad ) o 81 G oS5 40a ) ) gal) e

sl S el Lty Aot caatal) b il 30 35S0 v 5y 5 S Sy
daa yll il

16 A Bl aali g (A e ) sad) ysad (S o

(Data Structure) <Uls < + (Algorithm) 43, s = (Program) gl



o gilad) zmal

Clad 2aly 4 il laglaill (40 ALl 58 (Computer Program) qgwtall gl 5 o
G gulall e dma dage 2aiil daa il

Glalad e 3lay 5 ¢(software) Chas il mllaias o gulall zal o Je (sllay o
(source code) Hdaall 3 Sl cﬂa..a.q GA\_'U,J\

Al Jia daa pll Glal sl aladiuly s ) 2 SIS & (programming) 4w nll e
SEEPPPIVERL EN

s dall (A sass Al &l ghadll aaaty g8y o) 2 K1) A4S d.ecuwa.d\ u,JQ Qg e
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Lgat) jualiall (10 de sana (po Al 45 Callii o
(Basic Syntax) z=b_ll el o
(Keywords) 3 saaall il o
(Data Types) bl &1 il
(Variables) <l sxiall o
(Input/Output) zl A5 JaaY) e
(Operators) Jal g2l e
(Decision Making) J_all A3l »
(Loops) <lalxl) e
(Arrays) <lé siiadll o
(Strings) Ju3ud) e
(Functions) Jisall »
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da Jda (laladt) 3aaxta cej,_d\ g 5 giuall e daa dal (Python) Cgubs e
(OOP) 4x sill 488 ¢ jaiaqll

1989 sle & (Guido van Rossum) ajsy OB susa (sail sell Loy ghaty A8
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O5l < e

e SN GUS Sy g ¢ jsan sy oaSil e Juroliil) Akl A e () gy Aad Jaai o
COhant e jal g JA aUas e almds g Jands alas

DY) e J8 aamy 2SI AUS (S 5 cagdll g 3¢ jall Al Al Leily 0 il dxd il o
S A Ay el 45 )laa

G5 aaxiall L g5 el Aoy o el (o el b 0 5y A 20 o
el KA ¢ i)y

(Interpreter) wdell aladiuly | o ) jlaw ¢ ¢l A3l 4 ¢3Sl (o guaill 285 o1 @

el Al Js g ooatiall J8 e Leladin) dae ) il ST 0 g0l Azl 2a0 e



daa ) &) g4l

Aaa yull 4 U &l a1 dlae) 8 daa p dad 6l ae Jaall Y1) 5 gladl) o

L&Y Visual Studio Code Jis (IDE) AalSia gl 4hn (e yall alara addfi o
;:LL;Y\ e u.uﬁ\jcfa\.sld\ dLASY\ b)JA Jﬂy\.@d\}f .JJSM MLJSJGA‘).\M

&J\uﬁuMLHmm‘}ju\mj\,)g\ e\mmjsx\msm\m-

www.python.org L—ug-uY\ uir— 428 50 (14 U;A u;—\.-z\-.v b e dyaal\ uSA.-.'

i i) e 4a8 ga (0 Blas Visual Studio Code gl y (Ao J sl Sy o
https://code.visualstudio.com

2 Python extension <uii oy «Visual Studio Code gl y Cuil 22y o
Ol daly o <) AU die &ny\ e caiSlly SHD JLSY) 5 a0 28LY gali



http://www.python.org/
https://code.visualstudio.com/

Tl ) el

(e Y adiled s 36 Ayl aaas 8 (fndentation) 4aldl Glilaall & 8l 4l anding o
(tab) sl Aadle (e Yy 283L 48luasS (whitespace) el g 4 aladin) Jiady o

for 1 in range(1l,11):
print (1)
if 1 == 5:
break



Clalenly

02815 adal o) 2SI (1o £ a4 0 90 Le i 51 (Commeents) Cladaill aaa%us o
i ) 3 L) LS ol Jalas 3y o

Dbl Ly A Jeolb s Aad 3 clgladl) o e

# This 1s a comment
# print out Hello
print ("Hello")



5 ) gaaal) Culalsl

dau Gﬂ Lealadin) Sy Y lne 48 e GlIS A (KeyWQrds) 3 ) ganall LIS o
7l ) el (he ¢ 32 WY (functions) J)sall o) (variables) <l il

False

Mone

True

[=l]
=
[

d55ETL

await

break

class

continue

def

del

elif

glse

except

finally

for

from

global

if

import

in

is

lambda

nonlocal

not

or

return

try

while

Ilrlul j_ t '-I

yield

22



& pariall

3 ,SIAll (2 S8 JS& Al ( 5A3 < (Variables) ) yaziall pAATLT @

el JS5 Al il aalilyl)

number = 25
name = "Ali"

andall Gl 5 (Pi) 3_alall Cull (Jia A6 Lgiad &) juadia & (Constants) <l sl e
UJAJ\AAJJ@\AMAMJ&AJ.\Qw\ﬂ\uYOJﬁ\U}YDw\)ﬂ\WMQ

PI = 3.14
GRAVITY = 9.8



& pariall

J) gl g <l paaiall Cay yeil g la A (|dentifier5) Cld yzall o
A e gl oLl Comy il dans b o
MM\&M\M)\L}A@)\}\o)ﬁj\zwuﬁ\&uﬁd\gwu\ °
Adand) Ao yal Aadle o) Caya Lail g ol y Capmall Tan Y ) o
DJJAAAM elawy! 2al LJ)&AJ\ ujSJyU\ o
name %K o) ) (case-sensitive) <o all Alad 3 jeall Clalll e oS Aal o
Q‘ ..~.~ S‘ ~.. o L.; Name L')Q ~!.~~ ]



i) &1 6

4 pie S o0 2e ((Integer) gusaall 2oall

4 pdie ) euS ae 22 ((Float) sl aaall o

(") 4253 sl (") Bade Lulil GeDlay halse (el i(String) Aludud) e
(False) “bla 5l (True) 4dla 4ad ;(Boolean) 4akiall aull o

age = 42

price = 76.5

message = "Hello, Python!"
is raining = True

(Tuple) de sexall 5 (List) Aaildll Jadi libadl (e 5 530 &) 531 () 5 42 Gauali o
(Dictionary) Jaall 5 (Set) 48 o) de sanall



) AY) g JA!

ALalal) aladinly adll G Jasadl
print ("Hello, Python!")

print (42)
print ("Value:", 3.14)

end L sl 5 e o SiSI Aol L8 Alaldl) dadll yaaid gep Ja sl aladiud (Ko o
("\N" 22 s & dpal yi8Y) 4all) aill delida g dleAN dagall paa]
print ("Hello", "Python", sep="-") # Output: Hello-Python

print ("Hello", end=" ")
print ("World") # Output: Hello World



) AY) g JA!

sl 8 il sl el mad ) il (gaaaill Gaill Ay 3 F oAl addie @
{1 Aamiall Gl Y alasinls

name = "Ali"
age = 20

# Using f-string
print (f"My name is {name} and I am {age} years old.")

2250 4 el 3Ll 20 pa Jia f i pal) laiul e W) Gl Liad) (S o
G e ol Ya il ) ksl aaal) cu j8ll : 2f dauall

PI = 3.14159265
print (f"Pi is approximately {PI:.2f}")



) AY) g JA!

Al e dllu ) dcbia aw addiidl) (e dad ) gt JB 8 input() 412 padind e

name = input ("Enter your name: ")
age = input ("Enter your age: ")

5 a2 ) e sadl int() Ao PRERA KRS ) AR daxsll gl yaill ‘__Lj;_d .
i e ) Leb a5l flogt() Al

age = int (input ("Enter your age: "))
price = float (input ("Enter product price: "))



&) AY g JWaY) ol

A u;}d\.mjé\.chke.\ (name) edil..m]\ ol Jiaay uﬁhﬁ@ah} S| o
Hello, Ali 4l )l dclida, G..Au),\l\ a8 Alj dLlS ea&i.wd\ JAal 130 D (LA

(sum) (2l & gana alagl &3 (b) 2aall 5 (@) 22ad) JA0Y G #ls Aaly zals j iS)

s f” (quantity) sl (price) C_u.d\ e JAAY 5 b axly zali_y S| o
(total) Sea¥) j=ull

dAzJ\JAM :\;)J d{}&(‘u (temp) SJ\)}J\Q\;JJ d\.;a‘j uj.u\_w\.z.ha,qh}g_\_ﬁ\ o
f=(temp * 9/5 ) + 32 Ualaall aladinly (f) Culed xed V) (€) s

(a) 35l dalis Cluas S5 (radius) bl Caas JLAaY ¢ il 4l zali y (1iS) o
a = 3.14 * radius ** 2 dalaall alasiuly



Jal gal

ﬁﬂ\ e Gllaal) M8t G& PRENY AlS o) Aald ga (s? (Operators) Jal g2ll o
(Arithmetic) 4ubuall Jal s2ll o
Cpaanl) pang o5y 1(+) ganll
de\ A=l uAG.am\ A=l CJ.Luejs.a :(-) CJ'LJ\ °
Candl iy gy 1(*) _pal
S 20al) e J Y1 a0al) Ay a6 1(/) Agiidall dlac Y dand
S22l e J Y1 2aal) Ay 4 683 1(//) daanall dlacY) Aol
Sl 2l e J gV aaell dand 8L as y 1(%) Al 3L
V) 2l I U axell ad s o siy 1(*¥%) GaY) sl B sl

x = 10
y = 3
sum = X + y

product = x * vy
remainder = x % Yy



Jal g2l

(Comparison) 4 el Jal ge o
Oy sbutie e Cpieadll ColS ) Gandy 1(1=) b Y o
A el 1 5Y) Al S 1Y) Gands (<) (e ksl o

A (e 51 oY) el S 1) iy 1(5) (e S

Al (5 sl o) e S) (A oY) Aasll CilS 1) andy 1(>=) sl ) Oe S

a =95
b = 10
is equal = a == Db

is less than = a < b
is greater than = a > Db



Jal g2l

(Logical) 4akicll Jal g2l e
True (pb 38 G813 True aan (and) s Ghaie o
True Csbaall aal G 1 True aa e i(or) sl hie o
L2l s False b dll S 13 True a2 i(not) &) (slaie o

age = 25
is adult = age >= 18 and age <= 60

is raining = True
has umbrella = False

should go outside = not is raining or has umbrella



Jal gl

(Assignment) Gpadll Jal 5o o
ol (Al Cay o 58y 1(=) Opnl)
opadall ) Al et o8 aead) dalemy 2 98y 1(4=) aand) xa il
el (U Aail) cpaad o5 = hall Aaleny 25 1(-=) okl e Gl
odiall () dail) (et 3 jacall dplamy o 68 1(*=) dall g Gl
owadall ) Aaiill aamd &8 danal) dalesy o 58 (/=) Aaad) dlac V) dand aa puadll
opdall (Al Cpat o denisl) pleny o 08 1(//=) Al dae V) dand e el
el () Al Gaund o5 Al (B dalans 0 8y 1(9=) sl AL e Gl

1

XXX
* 4|
GG )

# Equivalent to x
# Equivalent to x

* +
o1 O

XX
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oJ)SJAS\LJJJ\LAL;:LuL_\\J\)ﬂ\ J\AJ‘L;‘\AL‘).HJ‘ dAAJ‘eMO
ulc;mmgs;mud);w@h}d\u@\@éﬂ\&\%ﬂ\d@\gqyo
Lhs o Wiba o8 o) ko yildl
1Osil Aal 8k il Jeal) e

if dlas o

else 4lax o

elif dlax o



if Alax

(True) Wba Lo il HUS 13 a8 38wl jf dles aadiud o
(else if OxialSll ) Laidl) elif das o) else Al s lia) S5 Leadly o) (Say

age = 20
if age >= 18:
print ("You are an adult.")

age = 25
if age >= 18 and age <= 60:
print ("You are in the working age group.")



else 4daa
(False) Lkl efif daa sl jf dlaa 8 Lo il (131 2 1) 2wl gse dlen addiu o

age = 20
if age >= 18:

print ("You are an adult.")
else:

print ("You are a child.")

age = 25
1if age >= 18 and age <= 60:

print ("You are in the working age group.")
else:

print ("You are not in the working age group.")



elif Alax

elif das A T all Gasd 2 Lhla 43l efif dlea o) if Alaa 3 D)3l IS 1) o
Lilia Lo il oS 131 26 il

score = 85
if score >= 90:
print ("A")
elif score >= 80:
print ("B")
elif score >= 70:
print ("C")
elif score >= 60:
print ("D")
else:
print ("F")



dada Hl) Jaad) 1y la

(negative) b 222l Ja yjasd (u e Jiay sl dal @Uﬁ S| o

(odd) 2.2 sl (even) =5 A=) Ja jasd s"‘ e JaY b dal zal 1S

S 1A lgand ?J (password) oyl S JaY o sub axly G..Au)g S o
(Access denied) delih o4 &y e ¢(Access granted) 4cbds &% python123

e Anbuall dleal) HLAAL addtiual) & gty &3 cpaae JBRAY 4 fl daly s o S| o
Cq\_d\ sy (m:sj\ cg)"aj\ ‘CJH\ ccoaj\) A_u\.m;j\ AJ.A;J\ ) d)AJ)A uma:d\

S 1A c(positive) @ ga 222l Ja jasd ("" e Jiay sl dal GAUJ.) S| o
(odd) T ! (even) >9) 222l Ja Lia ga 23]l



calalaly

L Al saaty Ja ol &l je ae o K1) 2ai ) S Gilalad) aad%S
Gl gaimnall xa Bile aadiud g o gul dal 8 dpulal) WSl Gl e Glalad) aas o
lalal) (e (e sh sy Arl pe i e

Sl el (e (e 23e 2SI 28w ) S 204005 (for 4dls e

3y Ja il Lalla o 6S0) daws ) S3) 2033 while 4dla e



for Adla

for 4als GS 2 KU1 281 G| JEPRRRYS Lasil (’GJ‘ Al A ¢ G& range() alla PRERR T e
StOp-l e (56—..14-1} 0 ‘J.u ?GJ\ alila J.d} ‘_A\ ngj_a :range(stop) °

for 1 in range(10) :
print (1)

stop-1 die ¢35 g start (s 12 A6 ) dule sl 8 N (5355 irange(start, stop)

for i in range(l, 10):
print (1)

e stop-1 die i start (e lag a6 Aluls ad 68 ) 5358 rrange(start, stop, step)
390 JS step laaa 334

for 1 in range(l, 10, 2):
print (1)



for Adla

u...nS:; ! GJ)Lu iy ?\3)\ alul A.dyua range() adla e\m\ CSay @

for i in range(10, 0, -1):
print (i)

alalaie Glals exi Al sda 85 ¢ Al Glala Jals Glalad) alasiul) (Say o
(nested loops)
(2D) Cpded) A 8 gaiall g 33l alalaiall clalall AR o

for 1 in range(3):
for j in range(3):
print (i, 7J)

for 1 in range(1l,5):
for j in range (i) :
print ("*", end=" ")
print ()



for Adla

Laa ilen aladiuly Aala) Qlpily oSail Koy o
DSl da s ias ae Al olei) ) ga% break des o

for num in range (5) :
if num ==
break
print (num)

) 5y eall I Jansy) g aalladl 3 gall (s SN Ayl @25 continue idas o

for num in range (5) :
if num ==
continue
print (num)



while 4ala

Al (Fa|5e) AES o Ladic g (True) Lila byl K13 while dals 280 pati o
dalal) ¢l

count = 0

while count < 5:
print (count)
count += 1

(infinite loop) il Ja il e (8ay Al Aalal) LY break dles aadiud o

while True:

user input = input ("Enter 'quit' to exit: ")
if user input == 'quit':

break
else:

print ("You entered:", user input)



<lalaly s Oy ladd

2l G pall Jgaa delida 2 andiiiall (pe 220 JAAY (6L Aal s o uiS)
10 I 1 Ge (0dd) R i) S ¥ Aol ¢ by Ay a3 380 »
il Aol 2510 I 1 e Al oY) gand o 5l Aals geali s ) o
10 a1 e 223U il J g2 delidal 500 43l i j S
aladinly Jany) 84y e 8 aiaeld Gulie deldal o 6l dady el yo (i) o
* 3
&= (sum) &M\ ) da=d) ddlial eM\ O e JAaY uj.u\_\f-\.:daéahf i) o



il il

N s Al sl < (arrays) Gl stimall Jia ) sl Al s (Lists) ei\jﬁ\ AL o
Alae Yy JMMLML_\\ALU&‘}J‘ (o dall (8 a8 Bac wﬁc\meﬂjsj\
S A Al B (fa g pa paill

pany e Leiad g [ ] Cum po G 8 O pal) (e Al 3T gy 408 £ LESY
alialal) aladiily

fruits = ["apple", "banana", "orange"]
numbers = [1, 2, 3, 4, 5]
mixed = [1, "apple", True]

aiall 0 &80 o 53 (index) cuedl) plhaiinly Aaldll jualic ) Jga sl S
JsY!

first fruit = fruits[0] # Access the first element
second number = numbers[l] # Access the second element]



il il

AT J peaiall g 1 el aladinls Al & Y] eaiell I Jgea gl (S o
1258 5 -2 () alaadinly

last fruit = fruits([-1] # Access the last element
o]l aladinly jpaiell 3aaa Al el Sy (g) Jaaxill AL S3) g3l
fruits[0] = "kiwi" # Change the first element to 'kiwi'
+ ol Aladiuly (amy xe JS) gl (a8 ad (Say e
all_items = fruits + numbers # Concatenate 'fruits' and 'numbers' lists

print() alla e\qs:w\_) @l delida Koy e

print (fruits)
print (numbers)



il il

fruits = ["apple", "banana", "orange"]
if "apple" in fruits:
print ("Yes, 'apple' 1is in the list.")

for 4aa (—;\M b Al palie yal il (Sare

fruits = ["apple", "banana", "orange"]
for fruit in fruits:
print ("I love"™, fruit)

numbers = [1, 2, 3, 4, 5]
sum = 0

for num in numbers:
sum += num
print ("The sum is:", sum)



il il

len() A1 pladiul b yalic e 5l Alall J s aaas Sy o

numbers = [1, 2, 3, 4, 5]
print (len (numbers) )

for 4aa e\m’ 1l Al palie Joaed Sy e
numbers = [1, 2, 3, 4, 5]

for i in range(len (numbers)) :
numbers[i] += 1
print (numbers) # [2, 3, 4, 5, 6]



ad) g8 2 lad

10 A 1 e ey e (o giat a8 de bl ) Al daly alh jy iS) o

aclib 43 (10, 26, 34, 45, 5] 4l palic & gane gV G b Aaly el yy S| o
(sum) & sexall 5 Al

i [56, 23, 8, 67, 45, 12] 4ilall & axe S| e Sl (5 daly iy (iS) o
(max) e S g Al dclila

o il e [T, 2, 3, 4, 5] Aalall jualie: daaail ¢ sl Aady el o S) e

A [76, 92, 84] M 4dld & Qllda Giladle Jarw alag (sl daly el 0 S o
o ) aladiuly sl 5 (qverage) Jaxdl dclia



J) gl

Lewlasinl Bale ) Sy g Alina daga 358 Al 2SN e Bas g & (Function) Al e

D) S e 6 pgrns L1l 5 Lagh (Sas il g 1zl ol asads J1 sl e o
B_Alall (oS Alla 9 3 jalal) a y Adla ;s 1) Leiy ol 93 00 a5 el st (S

) patiel) sl g Alal) dpand A5 def Al aladiuly () sub 4l 8 Allall cay et 2y o
() ool Y G @Bl ) (parameters) Ao sl

def greet (name) :
print ("Hello, " + name)

(arguments) ulaill Al aa anYU Leile xin) e A aadiu o

greet ("Alice") # Calling the greet function with the argument "Alice"



J) gl

ad (9 Lgileain) die Allall 8 ddasi 6l &l juatiall Ayl i) A et Sy @

def greet (name="Guest") :
print ("Hello, " + name)

greet () # Prints "Hello, Guest"
greet ("Alice") # Prints "Hello, Alice"

c_&\_\.\j\ 3l (us]\ &\AJY adlall Cay y=5 ‘_g return 4lea PRESIRD

def add(a, b):
return a + b

result = add (3, 5)



J) gl

Leal) s sl s Y s Flae ol ik oo AN 03 3 Wiy a5 aly ) ol iall o
(local scope) WAl z JA

L@ﬁj\‘;lﬁ*‘an\ C}Su%{j aaﬂs: L:Jt)§§343L5£>Jﬁ Lj{jlﬂ\ LES cz‘)tis Q?é L@ég“yxz 633 Qgiﬂ Lidt)&iﬁxd‘ ®
(global scope) 2581 & & 3 (gl e

global var = 10

def my function() :

local var = 5
print (global var) # Accessing a global variable
print (local var) # Accessing a local variable

my function ()
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import math

num = 25
result = math.sqgrt (num)
print (f"The square root of {num} is {result}")

radius = 3
area = math.pi * radius ** 2
print (f"The area of the circle with radius {radius} is {area}l")
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from math import sqgqrt, pi

num = 25

result = sgrt (num)

print (f"The square root of {num} is {result}")
radius = 3

area = pi * radius ** 2
print (f"The area of the circle with radius {radius} is {area}l")

s sll juaida sl (alias) da pul pladind g JalSI dphaail) Bas sl) o) il (Say o

import math as m

print (f"Factorial of 5 is {m.factorial(5)}")
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from datetime import datetime

current datetime = datetime.now ()
print ("Current Date and Time:", current datetime)

faall aladinly ol strftime() Al aladiuly <8 ol 5 Fo Al Gaudl (Say o

from datetime import datetime

current datetime = datetime.now ()
formatted date = current datetime.strftime("$Y-%m-%d SH:%$M:%S")
print ("Formatted Date:", formatted date)

# Using f-string
print (f"Formatted Date: {current datetime:%Y-%m-%d TH:3M:$S}")
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# Open a file in read mode ('r')
with open('example.txt', 'r') as file:
content = file.read() # or use readlines() to get a list of lines

print (content)

# Open a file in write mode ('w')
with open ('example.txt', 'w') as file:
file.write('This 1s a new content!\nYou can add more lines too.')

# Open a file in append mode ('a')
with open ('example.txt', 'a') as file:
file.write('\nThis line is appended to the file.')
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with open ('example.txt', 'r') as file:
# Read lines using a loop
for line in file:
print (line.strip()) # removes leading and trailing whitespaces

with open('example.txt', 'r') as file:
# Read the first line

linel = file.readline() .strip()
# Read the second line
line2 = file.readline() .strip()
# Read the third line
line3 = file.readline () .strip()

print ("Line 1:", linel)
print ("Line 2:", line?2)
print ("Line 3:", 1line3)
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